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If you were asked to name the three largest international organisations and were informed two are sporting bodies, you might guess the first two, the United Nations and the International Soccer Association.  But you would be unlikely to guess the third which is FIDE  ( Federation Internationale des Echecs).  One of the main events FIDE is responsible for is the Chess Olypiad, to be played later this year (May 20 – June 4) in Turin where the recent Winter Olympics were completed.  You may have read David Marsh (WA, Extra Time, Feb 27):  ‘About 2300 competitors and coaches from 150 countries will spend two weeks in the brain-over-brawn tournament’.

A tricky problem – White to play and mate in two (need a clue? look at first game note *):
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The Morelia / Linares has moved to Spain to complete the tournament writer Lubo Kavalek describes as the Wimbledon of Chess.  Although Peter Leko has retained his lead with 6.5/10, FIDE champion Veselin Topolov, who a few rounds earlier shared last place, with 3 successive wins has climbed to equal second with Levon Aronian and teenager Teimour Radjabov and is now only a point behind Leko.




      PETER  LEKO   -   TEIMOUR  RADJABOV




                2006 Morelia/Linares, Round 2




                Sicilian:  Sveshnikov Variation




 1    e4  
c5  


 2    Nf3  
Nc6




 3    d4  
cxd 


 4    Nxd4  
Nf6




 5    Nc3  
e5  


 6    Ndb5  
d6




 7    Bg5  
a6  


 8    Na3  
b5




 9    Nd5  
Be7 


10   Bxf6  
Bxf6




11   c3  
0-0 


12   Nc2  
Bg5




13   a4  
bxa  


14   Rxa4  
a5




15   Bc4  
Rb8 


16   b3  
Kh8




17   Nce3 
Be6 


18   h4  
Bf4




19   Nf5 
g6  


20   Nfe3(a) 
Kg7




21   g3 
Bh6 


22   Ng4 
f5




23   Nxh6 
Kxh6 


24   h5  
g5

     


25   exf  
Bxf5 


26   Ne3 
Bc8




27   Ra2 
Ne7 


28   0-0 
Rf6




29   Qe2 
Qb6 


30   Rfa1 
Qc6 




31   Rxa5 
Bb7 


32   Bd5 
Nxd5




33   Rxd5 
Qxc3 


34   Ng4+ 
Kg7




35   Ra7(b) 
Re6 


36   Qc4 
Qe1+(c)




37   Kg2(d) 
Re7 


38   Rxb7!(e) 
Rexb7




39   Rxd6 
Rf8 


40   h6+ 
Kh8




41   Qd5 
Rbb8 


42   Qd3 
Qb4




43   Rd7 
e4 


44   Qd5  
Rb5




45   Nf6!(f)  
resigns

* Retrospective analysis required – what was Black’s move?

a)  White’s seeming loss of 2 tempi has induced the weakening of the Black king’s pawn shield – h5 is threatened and f6 may become available to White’s pieces.

b)  Not 35 Nxf6? Bxd5  36 Nxd5, Qxa1+.

c)  Exchanging queens leaves Black’s pieces horribly tied up – 36...Qxc4  37 bxc4, Kf8  38 Rb5.

d)  My pin is better than your pin!

e)  This fine exchange sacrifice leaves Black helpless against the marauding queen, rook and knight (not forgetting the contribution of the humble h pawn).

f)  A delightful finish – 45...Rxd5  46 Rxh7# or 45...Rxf6  56 Rd8+.

SOLUTION: Neither the Black king nor the Black h pawn could have made the last move.  The g pawn could not have been on g6 checking the White king, therefore Black’s last move must have been  ...g7-g5.  allowing 1 hxg6 en passant, Kh5  2 Rxh7#.   

